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WEST BENGAL STATE UNIVERSITY
B.A. General PART-II Examinations, 2017

PmLOSOPHY-GENERAL

PAPER-PHIG-III

Time Allotted: 3 Hours Full Marks: 100

The figures in the margin indicate full marks.
Candidates should answer in their own words
and adhere to the word limit as practicable.
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Answer Question No. 1 & 2 and any two from the rest within 300 words each

~~'6~~~~~~~~~~~c:<T-~~~m~~oo~~~lft'8

1. Answer any five questions from the following within two sentences each: 2x5 = 10

M~!6t~ c:<T-~ ~ ~m ~ TJ!U ~~~~:
(a) Distinguish between anumiti and anumana.

~ '6 \5Ioffil~'!l ~ f.w;(xf~ I

(b) What is Vyapara?

<uT9fm~~?

(c) What is Vipaksa? Give an example.
R9f'Jfi~ ? ~<f$~'f ~ I

(d) What is the meaning of the term 'syat'?

~~'~~~?
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(e) Identify the hetu and sadhya of the following inference:
Ram is generous person since he is a king.
f.I~fi1~~IC~'!!I ~ '6 ~~ ~<I$C'!!IU

"'!!It1l~ fi,~ 1\Wf $lll

(f) Distinguish between Vyapya and Vyapaka with an example.
\£l~~'1~<ut9fJ '6 <ut~ ~ ~~ I

(g) What is the meaning of 'Naya' in Jaina Philosophy?

~~~~~'~~~?
_ (h) Name the steps for establishing Vyapti.-~~~~~~I

(i) What do you mean by Paksadharmata ji'iana?

~~~~?
G) Mention the form of the paramarsa ji'iana of the following:

Sound is eternal, because sound is a quality.
f.I~M~ 16111Il~f&'!!I9j'!!lIi1C~~~~g

~~,~~\£l~'@'11

2. Write short notes on any two within 100 words each from the following:

f.I~M~ ~-~ ~ ~~ (~C%J':pf&Soo ~ 'iIt~) ~m~ ~g

(a) Definition and Classification of Vyapti

~~'6~

(b) Saptabhanginaya

~~~{l

(c) Anumiti

~~f\3
(d) Classification of Hetu.

~~'5'f1

Sx2 = 10
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3. Define Paramarsa. Explain the necessity of Paramarsajfiana in the context of
anumiti.

5+10

4. Distinguish between Svarthanumiti and Pararthanumiti. Name and. explain
the five constituent parts (avayavas) of a Pararthanumana with the help of
suitable examples.

~'(3~~~~1 ~~~'6I"Hlc;q~~
~<rof~~~'tlq:'!I'cm '11q:1C~~~ I

5+10

5. (a) Distinguish between Kevalanvayi, Kevalavyatireki and Anvayavyiitireki 6+9
type of Anumana,

(b) Identify the following cases either as Kevalanvayi or Kevalavyatireki or as
Anvayavyatireki, Give reasons in favour of your answer.

(i) A table is knowable because it is nameable.

(ii) Earth is different from other elements because it has smell.

(iii) The hill is fiery because it is smoky.

(<1i) C<IS<l011Qrn,C<IS<101<IJ~C~f<li~~ '5I'Bl<IJ~C~f<li'5IilllCii~ 1It~~ ~ ~ I

(~) M~M~ '5Iilllii~m C<IS<l011Qrn,C<IS<ldj<IJ~c~f<li~ '5IQ~<IJ~c~f<li~ 1m:9f
~~ ~~ ~ ~'Gc~~;r9f:C'Jf~l'ft'e I

(~ ) ~~ ~'GM01tt2fm, ~ ~1t'6Ifiec~ I

(~) ~~~~~,~~~~I

(~) ~~~<I~MfiII1,~~~~1

6. Critically explain Jaina Syadvada.

~'1Jl't<ll't~~~1

15
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Group-B

~-~

Answer Question No.7 & 8 and any two from the rest

'\." -s l:r~ ~ 1!1~~ (;<f:-~ ~ ~m~
7. Answer any five questions from the following:

~OJ:-~~~m~g

2x5 = 10

(a) Name the different types of opposition of propositions.

~mTI'~~~m~~1
(b) What is null class?

~~(j!f~~?

(c) What is the converse ofthe obverse of the contradictory of '0' Proposition?

'0' ~~~ <ijl<ll%~'!l~~?

(d) Use truth-table to define the logical connecting' :J '.

)1~)jrn:!ir1f~ ' :J '-1!1~~~ ~ I

(e) Represent 'All non-S are P' by Venn Diagram.

~ ~-S ~ P'-C<li C\5~fbG1l~~ ~ I

(f) What would be the truth-value of' (p :J q) == (~ p v q)' when 'q' is true?

'q' ~ ~ '(p:J q) == (~ p v q) '-1!1~)j\!)j ~G1j~ ~ ?

(g) If an argument has four statement variables, how many rows will be there in

the construction of its truth-table?

~~~~~.<w.f~~, ~~ )j\!)j)jl'!l~~~~~?

(h) Give all c. ample of the fallacy of exclusive premises.

";f~~~ ~~l~\§fM\!) oum~ct~ I
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(i) Name the method applied in the following argument-form:
M~~~~-\blt<f)lC'!1~~~'if~~~~~~

ABC xyz
A+BC +x yz
A-BC x yz

G) If A and B are true, X and Yare false. What is the truth-value of the
following?

~AUl~B~~,XUl~y~~,~M~~~~~>j~~"'J~~?

(i) (A'B) v (X·Y)

(ii) - [- (A'X) . (Yv -A)].

8. Write short notes on any two from the following:

M~~~~-~ ~\S~~m~~~
(a) Fourfold scheme of Categorical Propositions

~9f'JI> ~ ~t;f 9j~<f)$I~t

(b) Limits of Contraposition
>j~M;qv6'C~'!1~~t;q~~t

(c) Boolean interpretation of Categorical Proposition•
~9f'JI>~~~

(d) Existential Import.

~ ~~ ~ ~~~~"'<f) ~~9f(1

5x2=10 ,

9. Test the validity ofthe following syllogism or syllogistic forms by means of 5x3 = 15
Venn diagram (any three).
~~IbG!l'!1 ~ M~~m -urn ~ i{)t~t<f)l'!1~~ ~ ~·~I (~-~

~I

(a) EAO-l
(b) AAA-3
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(c) Some parrots are not pests. All parrots are pets; therefore, no pets are pests.

~ ~ ~~ ~H'I1'4l~~ oml ~ ~~ ~ c~ ~I ~I!l~ ~

C~ ~ om ~1~1'4l~I

(d) All puzzle-lovers are bridge players. Since not all women are puzzle-lovers
and some women are bridge-players.

~ ~ 181G1"41C"1~ ~ ~ ~1G1"41C"11~ ~ ~ ~ 181G1"41C"1on
I!l~ ~ ~ ~ ~ ~ 181G1"4tc"1 I
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10. Test the validity of the following with the help of truth table (any three).

"1~"11~~"11~C~~~~(~-~ ~I

(a) p~(qvr)
-q
:. r ~- p

5x3 = 15

(b) Qv(R·-R)
Q
:.-(R· -R)

(c) R~(SvT)
(S·T)~-R
:. -R

,

•

(d) If West Bengal suffers a severe drought then if Punjab has its normal rainfall
then Hariyana's water supply will be greatly reduced. Punjab does have its
normal rainfall. So if Hariyana's water supply is greatly reduced then West
Bengal suffers a severe drought.

~ 9ffii6~"41~~ ~ ~ ~ ~ ~ ~1181M~ ~~ ~ ~ *~I~HI ~
"1~"4'$lI~~ ~ 9fWl1 9ft~ ~~ ~1181M~ ~ I ~ ~ *~1~1~ ~ "1~;q'$lI~
~~~~9ffii6~;ql~~~~1
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11. Use truth-tables to determine whether the following statement forms are 15
tautologous, self-contradictory or contingent.

Pf~f6!m;qt)~l<pl'll~~ ~~~, ~ ~~~, ~ ~~ - ~ Ji"J>n'll~ ~
~cfu~1
(i) (p ::> q). (r v - r)
(ii) P=-{- P v -q)

(iii) (p ::> (q v r)] ::> [(p ::> q) ::> (p ::> r )]

12. Explain and illustrate Mill's method of concomitant variation. What is the 15
importance of this method?

ts'tl~~~~~~ ~~~I \!l~ 9f1;ii~1U'll~~~?

•.
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